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OO0t 2| T2 THEEBAHL=1.0km) 150,000
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401 AlZHIZL S THY| 200,000 200,000
01 Al&ZHI 200,000 200,000
O WE HIIZH L GHMTCHDY HE
, 5l0] RED) 8 100,000
O Wg S (NL2H NHIY 5) 100,000
C2E42 012 797,937 760,696 37,241
= 545,333
2 252,604
101 Q14| 723,057 700,480 2,577
== 494,157
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03 SRE(RIHA)22NHE S 723,057 700,480 22,577
0O=2E42 (L) 723,057
oyjl== 3,400,00024 132 * 122 530,400
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O&d==¢ 175,000 » 13+ 122 27,300
& 18,658
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ORlgse 130,0002 x 13123 20,280
= 13,860
= 6,420
OE==< 100,0002 132+ 123 15,600
& 10,661
= 4,939
(OL=FSE= 150,000 x8ZH » 123 14,400
& 9,841
i 4,559
Ot2let =l 50,0003 =138+ 12& 7,800
= 5,331
= 2,469
OGE St 1,650,000 * 13 +x2& 42,900
& 29,319
i 13,581
Odxtza=g
2,750,0002 / 226%8x 132 » 12 15,186
= 10,379
i 4,807
Ogta=g 300,000& x1H 128 3,600
& 2,460
i 1,140
O2d==g 40,0002 6~ 122 2,880
= 1,968
= 912
OAlI2A2RE
2,750,0002 /226%1.5%15A1 2H 13+ 122 42,711
= 29,190
= 13,521
N4 HA=REIS 74,880 60,216 14,664
& 51,176
i 23,704
04 SR (RIHY) 22X BEESRES3 S 74,880 9,516 65,364
O=CIHgaEE RE=
180,000& 13K+ 122 28,080
= 19,191
i 8,889
O=0HLEE RE=
180,000& » 13+ 122 28,080
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401 AIEHIZ SR 0HYI 100,000 100,000
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OXLZ1010S 6 22HESAHDEAIE) 100,000
IEwE MHote 700,000 1,158,000 458,000
401 Al HIZL 201 700,000 1,158,000 458,000
01 Al&HI 700,000 1,158,000 458,000
O/gue Mot 700,000
O1ld H20te AuE MIESA 200,000
Ool0l FEul IS uE WIS A 200,000
Ol XA A g HLSA 300,000
ZTEAS 3,129,000 3,388,000 A259,000
TEALS 2,539,000 2,888,000 A349,000
401 Al HIZ 2018 2,539,000 2,888,000 A349,000
01 Al&HI 2,530,000 2,880,000 /350,000
O ALY 2,530,000
Ozt EXZYHI(AZ~BH0tS, Ao+,
F=EI3ME 8) 300,000
OLY S5-FHHZE2E) c2EHYZ
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Ogd a2 =2 ZHISAt 70,000
OMNE ZE6sH(SXI0IS) 28 L ESAL 400,000
OMd 2&17s8(OHEXIR) =2 FHI3
At 200,000
O7e ZE65 M (FHIIS) 2 EZEHIAL 260,000
O7e =EIR(2E65H) 2252 N
SAt 250,000
OOty 2IHE2H (263 d) 28 EY
SAt 400,000
OE2PAZISA(NLZE 223828
ot S) 1A 150,000
03 Al 2 CHHI 9,000 8,000 1,000
OAIE20HYI 9,000
TR A2 530,000 500,000 90,000
401 AIEHIX R0 530,000 500,000 90,000
01 A28l 590,000 500,000 90,000
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ONE SEXR(Z2E17SH) =2 FHIS
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Osdll X R(ZE1BEH) == FHIZS
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Osol ZHXR(2E125H) =2 FHIZ2
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SHEZZAMY 2,339,000 2,338,000 1,000
SHEZZMZ 1,859,000 1,908,000 249,000
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OEXNZ4H(Es~- g, dsnitz, 70!
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OAIZISXIAIL (&A304) NP2 2EYS
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O (FLr01) HSuIZ HESAt 150,000
03 A2 2 0HYI 9,000 8,000 1,000
OAIE 20l 9,000
sHEZZE ®X2c 480,000 430,000 50,000
401 AIZHIX 20HH 480,000 430,000 50,000
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OsUHEEZZ RXIZHCIA 480,000
O SXF sHECZ (&) IEEMT
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O=sX7 sHESZ(Z2303) HEZHIA 50,000
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O+ sHEEZZ(3I513M4) =2 &
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ONHMIT sHEEZZ(3I5H01) JL2 F
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ORHDFO SHETZ(0H307) &Yz &
EHZA 60,000
OLLX+F sHEZZ(S0H305) HHISA 60,000
OFINXZ sHEZZ(SoH101) =2 &
BIS A 40,000




SA AL
M T2H4
Sl ISR DER2INAAIY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
RSS2 N AL 2,174,000 546,000 1,628,000
= 270,000
== 717,000
[Ea 1,187,000
IEE2ATNEAS (HEALY) 750,000 0 750,000
< 375,000
s 375,000
401 AlZHIZL SO 750,000 0 750,000
= 375,000
= 375,000
01 Al&H| 750,000 0 750,000
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= 35,000
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Ozlzt 2010t =2 SHISA 30,000
Osoll 20 5= HESA 200,000
Osoll 8=+ =2 ZESA 15,000
ONHF Its0te 52 ZHIME 30,000
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